
1 
 

𝑥̅

s2

𝑥̅1  =  𝑥̅2  =  𝑥̅3 
𝑥̅

𝑥̅1, 𝑥̅2, 𝑥̅3



2 
 

i

si si
2

SSw SSE





k

i
iiw snSS

1

2)1(

k ni

i

SSw = (6-1)(1.006) + (6-1)(1.702) + (6-1)(0.962) = 18.345 

df k(n-1) n ∑𝑛௜ 3(6-1) = 15

MSw
ௌௌೢ

ௗ௙
= 1.223 

SSb







k

i
iib xxnSS

1

2
__

)(



x

(9.12+10.92+9.48)/3 = 9.83 

SSb 6(9.12-9.83)2 + 6(10.92-9.83)2 + 6(9.48-9.83)2 = 10.858 

k (3-1) = 2

MSb
ௌௌ್

ௗ௙



3 
 

𝐹 =
ெௌ್

ெௌೢ
=

ହ.ସଶଽ

ଵ.ଶଶଷ
=4.439 F(=0.05, v=2,v=15)

3.682 P 0.031

3

Table 2: Anova: Single Factor      

       
SUMMARY       

Groups Count Sum Average Variance   
Analyst A 6 54.7 9.117 1.006   
Analyst B 6 65.5 10.917 1.702   
Analyst C 6 56.9 9.483 0.962   

       

       
ANOVA       
Source of Variation SS df MS F P-value F crit 

Between Analysts 10.858 2 5.429 4.439 0.031 3.682 
Within Analysts 18.345 15 1.223    

       
Total 29.203 17         


